EAGRAROBREERT — 2 N— IBISH —F

2021548248 (£) 2EFR#H9H

Bl ess 2Bo5%x v5R4mE (BR) 2B

‘ [R1%] & ‘ [RERBB] — | Z (%) 16000 B

[~&4] 1 7% 15,000,000 @ ~ 2 7 :6,000,000 @ ~ 3 7% :3,800,000 1

4 7% 12,300,000 53 1,500,000

& % B BB Mk HE BF (&) 24 L (&%) | @BBIBf | £3F |SIEH | AR | AE | R FIRB) / BE / £EHRS
S = o4 | A 1:32.7 3-3 33.7[106.2 | 1 508 | FHEE (ER)

11811 AL>>¥abTIR 57.0 5 Ge) | AR
LW—5—y T BTTXRITILY =liztae]

N . 4 5 | BEHER 1:33.5 6-5 34.3| 97.4 | 2 560 | IIEE (3ER)

2(7|8| ¥ h/vBES 57.0 (5) Ca | ) BRI A-A =
LF=TANNT N BiAN—2G 91— J—HrTr—LA

; N o4 | ESEE 1:33.6 5-5 34.4] 9.3 | 9 474 | BEKAE (FH)

3lglig| TI7 AT 57.0 ) ) ki

LixTvH xwE BiYF #HEXEHt /-2
RTINS 4 5 | BERIEX 1:33.7 2-2 34.9| 95.4 | 3 494 | EERARE— (RR)

41719 LE—F>HH 2R 57.0 (1/2) (-8) /N8
:d—IWEAnMO— B:ZE-F%—0U 15—V FIRFy bT7—4
= PN s 4 | JIERE 1:33.8 6-5 345|942 | 6 490 | EIFEA (ER)

511 |Z1>FTHELX 55.0 (56 o ARG
RN=VITA BT RIA YL — () #HBI-—KL—Ya>AETy
Rrx7—0O 4 éﬁé%ﬂi— 1:33.8 98 [34.4| 941 | 4 | 472 lﬂrﬁiﬁﬁﬁiﬁ (ER)

— o — — (7[:) (+6) EE
R:F1—FTTVI 7 B:TLIZH J—HrTr—LA
. s 5 | HERH 1:34.0 1-11 34.2]91.9 | 7 460 | PEAEX (BRR)
fOA X2 b 55.0 ) (-2 | ) GrL—v>7
LBATATv— BT TL ERT7—L
s L S # 4 | dERKR— 1:34.1 1-1 35.3|91.4 | 5 492 | B2 (ER)
a 55.0 (1/2) (+16) HEFE
R:7x/—*/) B:H=-UT VAL T —L
S £ 8 | AEKE 1:34.2 9-8 34.71 8.9 | 8 508 | HFET (RR)
ayFz>¥ [B] “ 7| 50 (172) 6) ) a7y
LAY« T hALL N Biav%vS5y b $#E IERM
: 6 | =X 1:34.7 3-3 35.7| 85.5 | 10 | 468 |dLHEA (RR)
®L—IH—% 57.0 3) (6 |EHET
R4 7 bT—ILEY B:T7I— N> BEEZX42 v K
A # 5 | M2 TER 1:35.2 6-8 35.8 | 80.5 | 11 508 | THEEZ (EX)
R 57.0 ) (3 1/2) (-2) FIE
R:ECTFAYY Bivvyy b vie ]

@ 21 L

£ 45.7-33.9

NA>Z4 LA | 12.8-10.8-11.5-11.9-11.8-11.1-11.1-11.7

® 1—F—@EBIERL

13—=7—

2o=5"=

3a—4— 7,9(2,11)10(1,3,8) (5,4)-6

43—F— (x7,9) (2,11) (1,10,8) (5,3,4)6

[ N5

B O 1 170 714K 8-11 180M e 7-8 170M 3EE 8-10-11 4,040/

B B 1 110 10-11 1,160M B = 8-11 310 EE 11-8-10 8,550/

8 140 8-10 2,310/ B H 11-8 400M
10 730M

ARICOVWTRDTEEERROODE. TR LIV,




